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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 156.29 1.00 100.00 1.00 14.88 2.78
2 3 156.30 1.00 100.00 1.00 14.88 2.78
3 4 163.44 1.00 100.00 1.00 15.86 2.96
4 5 163.44 1.00 100.00 1.00 15.86 2.96
5 6 100.00 1.00 11.29 211
6 7 100.00 1.00 11.31 211
7 8 121.94 1.00 100.00 1.00 11.31 211
8 9 121.94 1.00 100.00 1.00 11.31 211
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kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
1 2 100.00 1.00 10.94 2.04
2 3 151.43 1.00 100.00 1.00 11.59 2.17
3 4 151.43 1.00 100.00 1.00 11.59 2.17
4 5
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kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 72.16 1.00 10.02 1.87
2 3 10000  1.00 10.42 1.95
3 4 100.00 1.00 10.42 1.95
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kN/m? m kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m kN/m?

1 2 143.33 1.00 100.00 1.00 12.75 2.38
2 3 169.05 1.00 100.00 1.00 16.05 3.00
3 4 169.05 1.00 100.00 1.00 18.16 3.39 16.05 3.00
4 5

5 6
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